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in Chief

A Game for the TI-58
Programmable
Calculator

Larry Kollar

Room 225 W Wadsworth Hall
Michigan Technological University
Houghton MI 49931

Commander in Chief is a TI-58 snowball
war game for one player (see listing 1).
After entering the program, press E. This
clears the memory and initializes the random
number generator (program 15 in the library
module). You are now ready to play. Enter
the number of snowballs you want up to
100 and push A. If you try to enter more
than 100 snowballs, the program will place
only 100 snowballs in your register. No
iceballs allowed.

After a few seconds, the calculator will
come back with a 1 or a flashing 1. If the
display flashes, you are at war. Next, you
estimate how many snowballs the enemy
has and push B. The display will flash how
many snowballs the enemy actually has.
Following this, it will display a 1, 0 or —1
and then the year number; or the display
will flash 99999999 99. If this occurs,
there has been a holocaust and the enemy
is rendered inoperative. If there is no holo-
caust, the 1, 0 or —1 tells you whether you
have won, achieved a standoff, or lost; then
the year number is displayed. You and your
enemy have lost half of your snowballs and
each of you will add more on the next year,

If there is no war at all during the year,
you have the option of declaring war. The
procedure is the same as that in which the
enemy has declared war. If you can make it
through ten years, you win the Snobel Peace
Prize.m
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Sample Game

Your Total Total Enemy
Year Snowballs Snowballs (not seen)
1 100 68
{No war, go on to the next year)
2 180 127
{No war)
3 260 209

(Enemy declares war. Player estimates 191 snowballs, an error of 18. This is multiplied
by the actual enemy snowballs and the number of his snowballs, The resuiting holocaust
factor is 978,120. The holocaust factor needed to cause a halocaust is 1,500,000. There
has been no holocaust, so each power loses half his/her snowballs, discarding fractions.

Player wins.)
4 130 104
{No war)
5 230 197
(No war)
6 330 224

(Player declares war and estimates 251 enemy snowballs, an error of 27. The holocaust
factor is 1,995,840. There has been a holocaust; and both sides are blitzed,

Loc, Keys Commentary Listing 1: Commander in
Chief, a game for the

000 (bl ) (CE ) Cems) (CPam) (15 ) (_E ) Random number generator. Texas Instruments TI-58
006 Cram) (5 ) CeD) (Bs) Cu) (a) programmable calculator.
012 ( 1 ) (0) ( 0 ) (x=21) m 100 is maximum number of snowballs Note .fhﬂt fSO;;'?e T;Jf f!f:}e
018 (x¥=t (_’th) ( = j (i;"t) (SUM) (DEI ) added is one turn, ?a;’i:a-i;?::s(;”;;fmuf;;y
024 (1) (s10) (10) Lowier it entries into one location.
o7 (1) (o) (D) (o) (O0) Upper limit This is indicated by an
032 @ (*int ) (sum (1_3) Add enemy snowballs asterisk within the key.
o (1) (3 (o) i)
042 ( 15 ) ( ¢ ) (s1t0) ( 20 )
046 (9 ) (x¥%t) (RCL) (20 ) (x>t War ?
051 (%) C) () (T Gum) (21)
w @D G ) (oD (o) )
063 (RcL) (13 ) (Pause) (L= ) (Lx) Enemy snowballs flash
o68 () Cce) Cx ) (Rer) Coo) Holocaust factor

@ )
079 (1_) (T) Co)H)(Co ) (o) ( 0 ) Maximum holocaust factor
oss (x%t) (Rer) (15) (x=1) (Unx) (RCL
osg (13 ) (rev) Co ) (=) (2) &
104 (Clnt) (sT0) C 0o ) (- ) (RcL) (13)
110
111 Signum function (Who won ?}

113 (FPause) (Pause ) (RcL) (21 ) (G10) (C+)

119 (*Lbl ** ) (cLR) ( + ) (=) (RCL) Flash year number

=

J (e

127 *Lbl (Lax ) ( CLR ( 1/x ) (*CM's) ( R/S ) You are rendered inoperative!
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